RS i TOHATSU
o . _ ] i F
A — ) \ \ HE | EE (HH| EE
et ‘" ‘ ! ‘ g | B8 | o |REEE
bbbl jubbspis s BEEET(E ~ B =R
[ & 1 @2 &3 & 4
o) f\g\\ (FE) (RE) (ER) (VE)
=
£ BRANE 4
M MM [T
&)
aa ' ' '
| | | |
; ' | )
= | @J =] @%} ALI/\I\
"da |.dz /_d)_
1_ _90°__> ~—__ 120° _,.>
o d1 d2 ' dz|da| e L | L |l|la|r Si|S2|S3| t | TAE(N)
SRS st min. | 18 | £2 B EE
SGR513-010 ssE M12x15| 90| M4 | 76| 65| 28 | 19 3 | 6] 6| 8 8| 16 | 35| -
SGR513-012 Ell_ M16x15|12.0 M5 | 88| 7.8/ 38 | 27 8| - | 7|10 -]10]| 25 71| -
SGR513-014 M20x15|145| M6 [11.4|10.0| 47 | 33 | 4 | 10 9 |12 12 | 40 | 130
SGR513-016 ggrsm (MI2X15] 9.0 |M4| 76| 65|28 | 19| | 6| | 8] 6 [ 35| -
SGR513-018 Elz_ M16x15|12.0/ M5 | 88| 78| 38 | 27 8| - | -|1w|-| -1 25 71 -
SGR513-020 M20>15|145 M6 |11.4|100| 47 | 33 | 4 | 10 12 40 | 130 | -
SGR513-022 | .o | M12%15] 9.0 M4 | 76| 65| 28 | 19 | o | 6|45 | 8| 16 | 35| -
SGR513-024 EI:«&_ M16x15|12.0|/ M5 | 88| 78| 38 | 27 8160 | -|10]-|-]235 71| -
SGR513-026 M20%1.5|145 M6 |[11.4|100| 47 | 33 | 4 | 10| 7.2 12 40 | 130 .
SGR513-028 gprss (MI2X15] 9.0 | M4| 76| 65|28 | 19| | 6| 4 16 | 35| -
SGR513-030 Eld_ M16%15|12.0 /M5 | 88| 78| 38 | 27 8| - |-|-|6]-12] 7] -
SGR513-032 M20>15|145 M6 |11.4|100| 47 | 33 | 4 | 10 8 40 | 130 | -
SGR513-110 siE M12x15| 90|/ M4 | 76| 65| 28 | 19 3 | 6] 6 8 8| 18 56 -
SGR513-112 Ell_ M16x15(12.0 | M5| 88| 78] 38 | 27 8| - 7110 - | 10| 45 | 125 .
SGR513-114 M20>15|145| M6 |11.4|100| 47 | 33 | 4 | 10 9 |12 12 | 65 | 200 | -
SGR513-116 s5s | MI2X15 9.0 | M4| 76| 65| 28 | 19 5 6 8 18 | 56| -
SGR513-118| * " | M16X15]120| M5 | 88| 78] 38 | 27 8| - | -|10]-|-]45 |125] -
SGR513-120 M20x1,5|145| M6 [11.4(10.0| 47 | 33 | 4 | 10 12 65 | 200
'SGR513-122 EsE | MI2X15 9.0/ M4| 76| 65| 28 | 19 3 6|45 | 8 18 | 56| -
SGR513-124 &3 M16x15|12.0 M5| 88| 7.8| 38 | 27 8160 |- [10| -] - | 45 | 125
SGR513-126 M20%1,5(145{ M6 |114[100| 47 | 33 | 4 | 10| 7.2 12 65 | 200
'SGR513-128 Eam | M12X15 9.0 M4 | 76| 65| 28 | 19 5 6 4 18 | 56| -
SGR513-130 &4 M16x15|120 M5| 88| 7.8| 38 | 27 8| - | -1 - - | 45 | 125 -
SGR513-132 M20%1.5|145| M6 |[11.4|10.0| 47 | 33 | 4 |10 8 65 | 200
[Ps. s (Wa. Peg=y s e s
- B EA BT A0IE R Bt 1S - ERETRE  THR0R g _ew | me:[1]X
SGR513-010

- EEEMERINREEN - B MtR

- HI3 | iR BB T AT DU A& SRR T =
- Bl HE R LR & U B ARED (4
- AR E RN S IR AR ERRFHEORFEE 2

2



